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6. THE PRINCIPLES OF DYNAMICS 
 
 
6.1. D’Alembert’s Principle for a Particle and a System 
 
Consider a particle M moving along a given fixed curve or surface (Fig. 72). The 

resultant of all the active forces applied to the particle is denoted by the symbol ࡲ௔. If 
the action of the constraint is replaced by its reaction ࡺ, the particle can be 
considered as a free one moving under the action of forces ࡲ௔ and ࡺ. Let us see what 
force ࡲ௜ should be added to the forces ࡲ௔ and ࡺ to balance them. If the resultant of 

the forces ࡲ௔ and ࡺ is ࡾ, then, obviously, the required 
force ࡲ௜ ൌ െࡾ. 

Let us express force ࡲ௜ in terms of the acceleration 
of the moving particle. As, according to the 
fundamental law of dynamics, ࡾ ൌ ௜ࡲ ,ࢇ݉ ൌ െ݉ࢇ.  

The force ࡲ௜, equal in magnitude to the product of 
the mass of the particle and its acceleration and 
directed oppositely to the acceleration, is called the 
inertia force of the particle. 

Thus, if to the forces ࡲ௔ and ࡺ is added the inertia force ࡲ௜, the forces will be 
balanced, and we will have 

௔ࡲ ൅ ࡺ ൅ ௜ࡲ ൌ 0.     (6.1) 
This equation states D'Alembert's principle for a particle: if at any given 

moment to the active forces and the reactions of the constraints acting on a particle is 
added the inertia force, the resultant force system will be in equilibrium and all the 
equations of statics will apply to it. 

D'Alembert’s principle provides a method of solving problems of dynamics by 
developing equations of motion in the form of equations of equilibrium.  

In applying D'Alembert's principle it should always be remembered that actually 
only forces ࡲ௔ and ࡺ are acting on a particle and that the particle is in motion. The 
inertia force does not act on a moving particle and the concept is introduced for the 
sole purpose of developing equations of dynamics with the help of the simpler 
methods of statics. 

D'Alembert's Principle for a System. Consider a system of n particles. Let us 
select any particle of mass mk and denote the resultants of all the external and internal 
forces applied to it by the symbols ࡲ௞௘௫௧ and ࡲ௞௜௡௧. If we add to these forces the inertia 
force ࡲ௞௜ ൌ െ݉௞ࢇ௞, then according to D'Alembert's principle for a single particle the 
force system ࡲ௞௘௫௧, ࡲ௞௜௡௧, ࡲ௞௜  will be in equilibrium, and consequently, 

௞௘௫௧ࡲ ൅ ௞௜௡௧ࡲ ൅ ௞௜ࡲ ൌ 0. 
Reasoning similarly for all the particles of the system, we arrive at the following 

result, which expresses D'Alembert's principle for a system: if at any moment of time 
to the effective external and internal forces acting on every particle of a system are 
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added the respective inertia forces, the resultant force system will be in equilibrium 
and all the equations of statics will apply to it. 

We know from statics that the geometrical sum of balanced forces and the sum 
of their moments with respect to any centre 0 are zero; we know, further, from the 
principle of solidification, that this holds good not only for forces acting on a rigid 
body, but for any deformable system. Thus, according to D'Alembert's principle, we 
must have 

∑൫ࡲ௞௘௫௧ ൅ ௞௜௡௧ࡲ ൅ ௞௜ࡲ ൯ ൌ 0,  
௞௘௫௧ሻࡲ଴ሺ࢓ൣ∑ ൅ ௞௜௡௧൯ࡲ଴൫࢓ ൅࢓଴൫ࡲ௞௜ ൯൧ ൌ 0.  

Let us introduce the following notation: 
௜ࡾ ൌ ௞௜ࡲ∑ ଴ࡹ,

௜ ൌ ௞௜ࡲ଴൫࢓∑ ൯.  
The quantities ࡾ௜and ࡹ଴

௜  are respectively the principal vector of the inertia 
forces and their principal moment with respect to a centre 0. Taking into account that 
the sum of the internal forces and the sum of their moments are each zero we obtain 

௞௘௫௧ࡲ∑ ൅ ௜ࡾ ൌ 0, ௞௘௫௧ሻࡲ଴ሺ࢓∑ ൅ ଴ࡹ
௜ ൌ 0.     (6.2) 

Use of Eqs. (6.2), which follow from D'Alembert's principle, simplifies the 
process of problem solution because the equations do not contain the internal forces. 
Actually Eqs. (6.2) are equivalent to the equations expressing the theorems of the 
change in the momentum and the total angular momentum of a system, differing from 
them only in form. 

      
6.2. The Principal Vector and the Principal Moment of the Inertia Forces of 

a Rigid Body 
 
It follows from the Statics that a system of inertia forces applied to a rigid body 

can be replaced by a single force equal to ࡾ௜ and applied at the centre 0, and a couple 
of moment ࡹ଴

௜ . The principal vector of a system, it will be recalled, does not depend 
on the centre of reduction and can be computed at once. As ࡲ௞௜ ൌ െ݉௞ࢇ௞, then 
taking into account §5.3, we will have: 

௜ࡾ ൌ െ∑݉௞ࢇ௞ ൌ െࢇܯ௖.      (6.3) 
Thus, the principal vector of the inertia forces of a moving body is equal to the 

product of the mass of the body and the acceleration of its centre of mass, and is 
opposite in direction to the acceleration. 

Let us determine the principal moment of the 
inertia forces for particular types of motion. 

1. Translational Motion. In this case a body has 
no rotation about its centre of mass C, from which we 
conclude that ∑࢓஼ሺࡲ௞௘௫௧ሻ ൌ 0, and Eq. (6.2) gives 
஼ࡹ

௜ ൌ 0. 
Thus, in translational motion, the inertia forces 

of a rigid body can be reduced to a single resultant ࡾ௜ 
through the centre of mass of the body. 
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2. Plane Motion. Let a body have a plane of symmetry, and let it be moving 
parallel to the plane. By virtue of symmetry, the principal vector and the resultant 
couple of inertia forces lie, together with the centre of mass C, in that plane. 

Therefore, placing the centre of reduction in point C, we obtain from Eq. (6.2) 
஼ܯ
௜ ൌ െ∑݉஼ሺࡲ௞௘௫௧ሻ. On the other hand (see § 5.9, 5.10), ∑݉஼ሺࡲ௞௘௫௧ሻ ൌ  We .ߝ஼ܬ

conclude from this that 
஼ܯ
௜ ൌ െܬ஼(6.4)       .ߝ 

Thus, in such motion a system of inertia forces can be reduced to a resultant 
force ࡾ௜ (Eq. (6.3)) applied at the centre of mass C (Fig. 73) and a couple in the 
plane of symmetry of the body whose moment is given by Eq. (6.4). The minus sign 
shows that the moment ܯ஼

௜  is in the opposite direction of the angular acceleration of 
the body. 

3. Rotation about an Axis through the Centre of Mass. Let a body have a plane 
of symmetry, and let the axis of rotation Cz be normal to the plane through the centre 
of mass. This case will thus be a particular case of the previous motion. But here 
௖ࢇ ൌ 0, and consequently, ࡾ௜ ൌ 0. 

Thus, in this case a system of inertia forces can be reduced to a couple in the 
plane of symmetry of the body of moment 

௭ܯ
௜ ൌ െܬ஼ߝ. 

In applying Eqs. (6.3) and (6.4) to problem solutions, the magnitudes of the 
respective quantities are computed and the directions are shown in a diagram. 

 
  6.3. Virtual Displacements of a System. Degrees of Freedom 

 
In determining the equilibrium conditions of a system by the methods of so-

called graphical statics we had to consider the equilibrium of every body separately, 
replacing the action of all applied constraints by the unknown reaction forces. When 
the number of bodies in a system is large, this method becomes cumbersome, 
involving the solution of a large number of equations with many unknown quantities. 

Now we shall make use of a number of kinematical and dynamical concepts to 
investigate a more general method for the solution of problems of statics, which 
makes it possible to determine at once, the equilibrium conditions for any mechanical 
system. The basic difference between this method and the methods of geometrical 
statics is that the action of constraints is taken into account not by introducing the 

reaction forces but by investigating the 
possible displacements of a system if its 
equilibrium were disturbed. These 
displacements are known in mechanics by 
the name of virtual displacements. 

Virtual displacements of the particles 
of a system must satisfy two conditions: 1) 
they must be infinitesimal, since if a 
displacement is finite the system will 
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occupy a new configuration in which the equilibrium conditions may be different; 2) 
they must be consistent with the constraints of the system, as otherwise we should 
change the character of the mechanical system under consideration. For instance, in 
the crankshaft mechanism in Fig. 74, a displacement of the points of the crank OA 
into configuration OA1 cannot considered as a virtual displacement, as the 
equilibrium conditions under the action of forces P and ܳ will be have changed. At 
the same time, even an infinitesimal displacement of point B of the connecting rod 
along BD would not be a virtual displacement: it would have been possible if the 
slides at B were replaced by a rocker, i.e., if it were a different mechanism. 

Thus, we shall define as a virtual displacement of a system the sum total of any 
arbitrary infinitesimal displacements of the particles of the system consistent with all 
the constraints acting on the system at the given instant. We shall denote the virtual 
displacement of any point by an elementary vector ࢙ߜ  in the direction of the 
displacement.  

In the most general case, the particles and bodies of a system may have a 
number of different virtual displacements (not considering ࢙ߜ and — ࢙ߜ as being 
different). For every system, however, depending on the type of constraints, we can 
specify a certain number of independent virtual displacements such that any other 
virtual displacements will be obtained as their geometrical sum. For example, a bead 
lying on a horizontal plane can move in many directions on the plane. Nevertheless, 
any virtual displacement ࢙ߜ may be produced as the sum of two displacements ࢙ߜଵ 
and ࢙ߜଶ along two mutual perpendicular horizontal axes ሺ࢙ߜ ൌ ଵ࢙ߜ ൅  .ଶሻ࢙ߜ

The number of possible mutually independent displacements of a system is 
called the number of degrees of freedom of that system. Thus, a bead on a plane 
(regarded as a particle) has two degrees of freedom. A crankshaft mechanism, 
evidently, has one degree of freedom. A free particle has three degrees of freedom 
(three independent displacements along mutually perpendicular axes). A free rigid 
body has six degrees of freedom (three translational displacements along orthogonal 
axes and three rotations about those axes). 

Ideal Constraints. If a particle has for a constraint a smooth surface, the reaction 
 of the constraint is normal to the surface and the elementary work done by the ࡺ
force ࡺ in any virtual displacement of the particle is zero. It was shown that if we 
neglect rolling friction, the sum of the work done by the reaction forces ࡺ and ࡲ௙௥ in 
any virtual displacement of a rolling body is also zero. The internal forces of any 
non-deformable system also possess this property.  

Let us introduce the following notation: the elementary work done by an active 
force ࡲ௔ in any virtual displacement ࢙ߜ — the virtual work—shall be denoted by the 
symbol ܣߜ௔ ሺܣߜ௔ ൌ ݏߜ௔ܨ ݏ݋ܿ  is the angle between the directions of the  ߙ where ,ߙ
force and the displacement), and the virtual work done by the reaction ࡺ of a 
constraint, by the symbol ܣߜே. Then for all the constraints considered here, 

௞ேܣߜ∑ ൌ 0.       (6.5) 
Constraints, in which the sum of the virtual work produced by all the reaction 

forces in any virtual displacement of a system is zero, are called ideal constraints. 
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We have seen that to such constraints belong all frictionless constraints along 
which a body slides and all rough constraints when a body rolls along them, 
neglecting rolling friction. 

 
6.4. The Principle of Virtual Work 
 
Consider a system of material particles in equilibrium under the action of the 

applied forces and constraints, assuming all the constraints imposed on the system to 
be ideal. Let us take an arbitrary particle belonging to the system and denote the 
resultant of all the applied active forces (both external and internal) by the symbol 
 ௞௔, and the resultant of all the reactions of the constraints (also external and internal)ࡲ
by the symbol ࡺ௞. Then, since this particle is in equilibrium together with the system, 
௞௔ࡲ ൅ ௞ࡺ ൌ ௞ࡺ ݎ݋ 0 ൌ െࡲ௞௔. 

Consequently, in any virtual displacement of the particle the virtual work ܣߜ௞௔ 
and ܣߜ௞ே done by the forces ࡲ௞௔ and ࡺ௞ are equal in magnitude and opposite in sense 
and therefore vanish, i.e., we have: 

௞௔ܣߜ ൅ ௞ேܣߜ ൌ 0. 
Reasoning in the same way we obtain similar equations for all the particles of a 

system, adding which we obtain 
௞௔ܣߜ∑ ൅ ௞ேܣߜ∑ ൌ 0.  

But from the property of ideal constraints (6.5), the second summation is zero, 
whence 

௞௔ܣߜ∑ ൌ 0,       (6.6) 
or 

∑ሺܨ௞௔ݏߜ௞ ݏ݋ܿ ௞ሻߙ ൌ 0.     (6.7) 
We have thus proved that if a mechanical system with ideal constraints is in 

equilibrium, the active forces applied to it satisfy the condition (6.6). The reverse is 
also true, i.e., if the active forces satisfy the condition (6.6), the system is in 
equilibrium. From this follows the principle of virtual work: the necessary and 
sufficient conditions for the equilibrium of a system subjected to ideal constraints is 
that the total virtual work done by all the active forces is equal to zero for any and all 
virtual displacements consistent with the constraints. Mathematically the necessary 
and sufficient condition for the equilibrium of any mechanical system is expressed by 
Eq. (6.6). 

In analytical form this condition can be expressed as follows: 
∑൫ܨ௞௫௔ ௞ݔߜ ൅ ௞௬௔ܨ ௞ݕߜ ൅ ௞௭௔ܨ ௞൯ݖߜ ൌ 0.     (6.8) 

In Eq. (6.8) ݔߜ௞, ,௞ݕߜ  ௞ of࢙ߜ ௞ are the projections of the virtual displacementsݖߜ
point on the coordinate axes. They are equal to the infinitesimal increments to the 
position coordinates of the point in its displacement and are computed in the same 
way as the differentials of coordinates. 

The principle of virtual work provides in general form the equilibrium 
conditions of any mechanical system, whereas the methods of geometrical statics 
require the consideration of the equilibrium of every body of the system separately. 
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Furthermore, application of the principle of virtual work requires that only the active 
forces be considered and makes it possible to ignore all the unknown reactions of 
constraints, when the constraints are ideal. 

 
6.5. The General Equation of Dynamics 
 
The principle of virtual work gives a general method for solving problems of 

statics. On the other hand, D'Alembert's principle makes it possible to employ the 
methods of statics in solving dynamical problems. It seems obvious that by 
combining both these principles we can develop a general method for the solution of 
problems of dynamics. 

Consider a system of material particles subjected to ideal constraints. If we add 
to all the particles subjected to active forces ࡲ௞௔ and the reaction forces ࡺ௞ the 
corresponding inertia forces ࡲ௞௜ ൌ െ݉௞ࢇ௞, then by D'Alembert's principle the 
resulting force system will be in equilibrium. If we now apply the principle of virtual 
work, we obtain 

௞௔ܣߜ∑ ൅ ௞௜ܣߜ∑ ൅ ௞ேܣߜ∑ ൌ 0.  
But from Eq. (6.5) the last summation is zero, and we finally obtain 

௞௔ܣߜ∑ ൅ ௞௜ܣߜ∑ ൌ 0.     (6.9) 
Equation (6.9) represents the general equation of dynamics. It states that in a 

moving system with ideal constraints the total virtual work done by all the active 
forces and all the inertia forces in any virtual displacement is zero at any instant. 

In analytical form Eq. (6.9) gives 
∑ൣ൫ܨ௞௫௔ ൅ ௞௫௜ܨ ൯ݔߜ௞ ൅ ൫ܨ௞௬௔ ൅ ௞௬௜ܨ ൯ݕߜ௞ ൅ ൫ܨ௞௭௔ ൅ ௞௭௜ܨ ൯ݖߜ௞൧ ൌ 0.  (6.10) 

Equation (6.9) and (6.10) make it possible to develop the equations of motion 
for any mechanical system. 

If a system consists of a number of rigid bodies, the relevant equations can be 
developed if to the active forces applied to each body are added a force equal to the 
principal vector of the inertia forces applied at any center, and a couple of moment 
equal to the principal moment of the inertia forces with respect to that center. Then 
the principle of virtual work can be used. 

 
 
6.6. Solution of Problems 
 

Problem 44. When a train accelerates, a 
load attached to a string hanging 
from the ceiling of a carriage deflects by an 
angle ߙ from the vertical (Fig. 75).Determine 
the acceleration of the carriage. 

Solution. Acting on the load is the force 
of gravity ࡼ and the reaction of the thread ࢀ. 
Applying D'Alembert's principle, add to these 
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forces the inertia force ࢏ࡲ directed opposite to the acceleration ࢇ of the carriage. In 
magnitude ܨ௜ ൌ ݉ܽ ൌ ௉

௚
ܽ. The forces ࢀ ,ࡼ and ࢏ࡲ are balanced. Constructing a 

closed force triangle and taking into account that ߮ ൌ   we find ,ߙ
௜ܨ ൌ ܲ ݊ܽݐ ߙ  or  ௉

௚
ܽ ൌ ܲ ݊ܽݐ  .ߙ

Hence, the acceleration of the carriage is ܽ ൌ ݃ ݊ܽݐ  .ߙ
  

Problem 45. Neglecting the mass of all the rotating parts of the centrifugal-type 
governor in Fig. 76 as compared with the mass of the balls ܤ and ܦ, determine the 
angle ߙ defining the position of relative 
equilibrium of rod ܤܣ of length ݈ if the governor 
rotates with a constant angular velocity ߱. 

Solution. In order to determine the position 
of relative equilibrium (with respect to a set of 
axes rotating together with the governor) add, 
according to Eq. (6.1), to the force of gravity ࡼ 
and the reaction ࡺ acting on ball ܤ the transport 
inertia force ࢏࢚࢘ࡲ . As ߱ const, ܽ௧௥ ൌ ܽ௧௥௡ ൌ
ଶ߱ܥܤ ൌ ݈߱ଶ ݊݅ݏ ௧௥௜ܨ whence ,ߙ ൌ ݈݉߱ଶ ݊݅ݏ  .ߙ
Writing the equilibrium equation for the 
projections on axis ߬ܤ, which is perpendicular to 
 we have ,ܤܣ

െܲ ݊݅ݏ ߙ ൅ ௧௥௜ܨ ݏ݋ܿ ߙ ൌ 0. 

Hence, substituting ܨ௧௥௜  for its expression and eliminating ݊݅ݏ  not considering) ߙ
the solution for ߙ ൌ 0), we obtain 

െ݃ ൅ ݈߱ଶ ݏ݋ܿ ߙ ൌ 0, 
whence 

ݏ݋ܿ ߙ ൌ ௚
௟ఠమ. 

As ܿݏ݋ ߙ ൑ 1, equilibium at ߙ ് 0 is possible only 
when ߱ଶ ൐ ௚

௟
. 

 
Problem 46. The semicircle ܦܥܤ of radius ܴ in Fig. 

77 rotates about a vertical axis with a constant angular 
velocity ߱. A ring ܯ starts slipping along it without 
friction from a point ܤ slightly off the axis of rotation. 
Determine the relative velocity ݒଵ of the ring at point ܥ if 
its initial velocity ݒ଴ ൌ 0. 

Solution. The velocity ݒଵ, can be determined from the 
theorem of the change in kinetic energy. In order to write 
Eq. (5.36), which expresses the theorem, compute the 
work done by forces ࡼ and ࢏࢚࢘ࡲ , where ܨ௧௥௜ ൌ ݉߱ଶݔ (the 
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work done by the reaction ࡺ is zero). Assuming approximately ݔ஻ ൌ 0, we obtain 

௧௥௜ࡲሺ஻஼ሻ൫ܣ ൯ ൌ න ௧௥ ௫௜ܨ ݔ݀

ሺ஼ሻ

ሺ஻ሻ

ൌ ݉߱ଶ න ݔ ݔ݀
ோ

଴

ൌ
1
2
݉߱ଶܴଶ. 

Furthermore, ܣሺ஻஼ሻሺࡼሻ ൌ ܴܲ. Substituting these expressions into Eq. (5.36) and 
taking into account that ݒ଴ ൌ 0, we have 

ଵଶݒ݉

2
ൌ ܴ݉ ൬݃ ൅

1
2
߱ଶܴ൰, 

whence 

ଵݒ ൌ ඨ2ܴ݃ ቆ1 ൅
߱ଶܴ
2݃

ቇ. 

 
Problem 47.Two weights ଵܲ and ଶܲ are connected by a thread and move along a 

horizontal plane under the action of a force ࡽ applied to the first weight (Fig. 78a). 
The coefficient of friction of the weights on the plane is ݂. Determine the 
accelerations of the weights and the tension in the thread. 

Solution. Denote all the 
external forces acting on the 
system and add to them the 
inertia forces of the weights. As 
both weights are translated with  
the same acceleration ࢇ, then in 
magnitude 

ଵ௜ܨ ൌ
௉భ
௚
ܽ  and ܨଶ௜ ൌ

௉మ
௚
ܽ. 

The forces are directed as shown. Then frictional forces are 
ଵܨ ൌ ݂ ଵܲ, ଶܨ  ൌ ݂ ଶܲ. 

According to D’Alembert’s principle, the force system must be in equilibrium. 
Writing the equilibrium equation in terms of the projections on horizontal axis, we 
find 

ܳ െ ݂ሺ ଵܲ ൅ ଶܲሻ െ
1
݃
ሺ ଵܲ ൅ ଶܲሻܽ ൌ 0, 

whence 

ܽ ൌ ൬
ܳ

ଵܲ ൅ ଶܲ
െ ݂൰ ݃. 

Evidently, the weights will move if ݂ ൏ ொ
௉భା௉మ

. 
In our force system the required tension in the thread is an internal force. To 

determine it we divide the system and apply D’Alembert’s principle to one of the 
weight, say the second (Fig. 78b). Acting on it is force ࡼଶ, the normal reaction ࡺଶ, 
the frictional force ࡲଶ, and tension ࢀ in the thread. Add to them the inertia force ࡲଶ௜௡ 
and write the equilibrium in terms of the projection on horizontal axis. We have 
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ܶ െ ݂ ଶܲ െ
ଶܲ

݃
ܽ ൌ 0. 

Substituting the earlier found value of ܽ, we obtain finally 

ܶ ൌ
ܳ ଶܲ

ଵܲ ൅ ଶܲ
. 

It is interesting to note that the tension in the thread does not depend on the 
friction and, given the same total weight of the system, it decreases with the reduction 
of the second (rear) weight. That is why, for example, in making up a goods train it is 
better to place the heavier vans closer to the locomotive. 

 
Problem 48. Solve problem 22 with the help of D’Alembert’s principle and also 

determine the tension in the thread. 
Solution.1) Considering the drum and the load as a single system, we add to the 

bodies of the system inertia forces (Fig. 79). Load ܣ is in translational motion and for 
it ܴ௜ ൌ ொ

௚
ܽ஺ ൌ

ொ
௚
 The inertia forces of the .ߝݎ

drum can be reduced to a couple of moment ܯ଴
௜  

equal in magnitude to ܬ଴ߝ ൌ
௉
௚
߷ଶߝ and directed 

opposite the rotation. Writing now for all the 
forces the equilibrium conditions in the form 
∑݉଴ሺࡲ௞ሻ ൌ 0, we obtain  

หܯ଴
௜ ห ൅ ܴ௜ݎ െ ݎܳ ൌ 0, 

or 
ܲ
݃
߷ଶߝ ൅

ܳ
݃
ߝଶݎ െ ݎܳ ൌ 0, 

from which we find 

ߝ ൌ
ݎ݃ܳ

ܲ߷ଶ ൅ ଶݎܳ
. 

2) Considering now load ܣ separately and adding to the active forces ࡽ and ࢀ 
the inertia force ࢏ࡾ, we obtain from the equilibrium conditions that the tension in the 
thread  

ܶ ൌ ܳ െ ܴ௜ ൌ ܳ ൬1 െ
ߝݎ
݃
൰ ൌ

ܲܳ߷ଶ

ܲ߷ଶ ൅ ଶݎܳ
. 

 
Problem 49. Determine the forces acting on a spinning flywheel, assuming its 

mass to be distributed along the rim. The weight of the flywheel is ܲ, its radius ݎ and 
its angular velocity ߱. 

Solution. The required force is an internal one. In order to determine it, cut the 
rim into two and apply D'Alembert's principle to one portion (Fig. 80). We denote the 
action of the separated half by two equal forces ࡲᇱ equal in magnitude to the required 
force ࡲ. For each element of the rim, the inertia force (a centrifugal force) is directed 
along the radius. These concurrent forces intersecting at ܱ have a resultant equal to 
the principal vector ࢏ࡾ of the inertia forces directed, by virtue of symmetry, along 
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axis ܱݔ. By Eq. (6.3), ܴ௜ ൌ ݉ܽ஼ ൌ  ஼߱ଶ, where ݉ is the mass of half the rim andݔ݉
 ஼ is the coordinate of the mass centre of theݔ
semicircular arc, which is equal to ଶ௥

గ
. 

Therefore, 
݉ ൌ ௉

ଶ௚
, ܴ௜ ൌ ௉௥ఠమ

గ௚
. 

The equilibrium conditions give 2ܨ ൌ ܴ௜, 
and finally 

ܨ ൌ ௉௥ఠమ

ଶగ௚
. 

This formula can be used to determine the 
limiting angular velocity beyond which a 
flywheel made of a specific  material may be 
torn apart. 

 
 
Problem 50. A homogeneous rod ܤܣ of 

length ݈ and weight ܲ is hinged at ܣ to a vertical shaft rotating with an angular 
velocity ߱ (Fig. 81). Determine the tension ܶ in the horizontal thread securing the rod 
at  an angle ߙ to the shaft. 

Solution. Applying D'Alembert's principle, we add to the external forces 
,ࡼ ,ࢀ  acting on the rod the inertia forces. For each element of the rod of ࡭ࢅ and ࡭ࢄ

mass ݉߂   the centrifugal inertia force 
is ߱݉߂ଶݔ, where ݔ is the distance of the 
element from the axis of rotation ݕܣ. The 
resultant of these parallel forces distributed   
according to a linear law passes through the 
centre of gravity of triangle ܧܤܣ, i.e., at a 
distance ݄ ൌ ଶ

ଷ
݈ ݏ݋ܿ  axis. As ݔܣ from the ߙ

this resultant is equal to the principal vector 
of the inertia forces, then, by Eq. (6.3), 

ܴ௜ ൌ ݉ܽ஼ ൌ ݉߱ଶݔ஼ ൌ
ܲ
݃
߱ଶ 1

2
݊݅ݏ  ߙ

(here ݔ஼ is the coordinate of the centre of 
gravity of the rod). 

Writing now the statics equation 
∑݉஺ሺࡲ௞ሻ ൌ 0, we obtain 

݈ܶ ݏ݋ܿ ߙ െ ܴ௜݄ െ ܲ
݈
2
݊݅ݏ ߙ ൌ 0. 

Substituting the values of ܴ௜ and ݄ into this equation, we obtain finally 

ܶ ൌ ܲ ቆ
݈߱ଶ

3݃
݊݅ݏ ߙ ൅

1
2
݊ܽݐ  .ቇߙ
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Problem 51. A homogeneous rod ܤܣ of mass ݉ and length ݈ rotates about an 
axis perpendicular to it with an angular velocity ߱ and an angular acceleration ߝ 
 (Fig. 82). Determine the stresses generated by the rotation in a cross section of the 
rod at a distance ݔ from the axis.  

Solution. The required forces are internal. To determine them, cut the rod into 

 
two and consider the motion of portion ܤܦ of length ܽ ൌ 1 െ  The action .(Fig. 83) ݔ
of the removed portion ܦܣ is replaced by a force applied at the centre ܦ of the cross 
section, which we shall represent by its components ࡼ and ࡽ, and a couple of 
moment ܯ஽. The quantities ࡽ,ࡼ and ܯ஽ will specify the required stresses in section 
 act on one another. To ܤܦ and ܦܣ of the rod, i.e., the forces with which portions ܦ
compute these quantities we use D'Alembert's principle. First let us find the principal 
vector ࢏ࡾ of the inertia forces of portion ܤܦ, and their principal moment ܯ஼

௜  with 
respect to the centre of mass ܥ of the portion. The mass of portion ܤܦ and the 
coordinate ݔ஼ ൌ     of its centre of mass are ܥܣ

݉ଵ ൌ
1 െ ݔ
݈

݉, ஼ݔ 
1 ൅ ݔ
2

. 

Then, form Eqs. (6.3), we find magnitude of vectors ࡾఛ௜  and ࡾ஼௜ : 

หࡾఛ௜ ห ൌ ݉ଵ|ܽ௖ఛ| ൌ ݉ଵݔ஼|ߝ| ൌ |ߝ|݉
݈ଶ െ ଶݔ

2݈
, 

ܴ஼௜ ൌ ݉ଵܽ௖௡ ൌ ݉ଵݔ஼߱ଶ ൌ ݉߱ଶ ݈
ଶ െ ଶݔ

2݈
. 

Furthermore, from Eq. (6.4), ܯ஼
௜ ൌ െܬ஼ߝ. As in this case ܬ஼ ൌ

௠௔మ

ଵଶ
, then 

หܯ஼
௜ ห ൌ ݉ ሺ௟ି௫ሻయ

ଵଶ௟
 .|ߝ|

The forces ࡾఛ௜  and ࡾ஼௜  and the moment ܯ஼
௜  are directed as shown in the Fig.83. 

Thus, all the inertia forces of portion ܤܦ of the rod are replaced by a force 
ఛ௜ࡾ  whose components are ,ܥ ௜ applied atࡾ  and  ࡾ஼௜  and a couple of moment  ܯ஼

௜ . 
Writing now the equilibrium conditions ∑ ௞௫ܨ ൌ 0, ௞௬ܨ∑ ൌ 0, ∑݉஽ ሺࡲ௞ሻ ൌ 0 for 
the active forces and the inertia forces applied to portion ܤܦ, we obtain 

ܴ஼௜ െ ܲ ൌ 0;ܳ െ หܴఛ௜ ห ൌ ஽ܯ ;0 െ หܯ஼
௜ ห െ หܴఛ௜ ห

ܽ
2
ൌ 0. 

From this we find finally that acting at section ܦ of the rod are 1) a tensile force 
ܲ ൌ ܴ௡௜  and 2) a transverse force ܳ ൌ หܴఛ௜ ห, and 3) a couple with a bending moment 

஽ܯ ൌ หܯ஼
௜ ห ൅ หܴఛ௜ ห

ܽ
2
ൌ
|ߝ|݉
12݈

ሾሺ݈ െ ሻଷݔ ൅ 3ሺ݈ ൅ ሻሺ݈ݔ െ  ,ሻଶሿݔ
or finally 
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஽ܯ ൌ
௠|ఌ|
଺௟

ሺ݈ െ ሻଶሺ2݈ݔ ൅  .ሻݔ
The value of forces ܲ, ܳ and the bending moment will be greatest at the cross 

section ݔ ൌ 0. 
 
Problem 52. Two equal bars of length ݈ and weight ݌  each are welded at right 

angles to a vertical shaft of length ܾ  at  istance ݄   from each other (Fig. 84). Determine 
the dynamical pressures acting on the shaft if it 
rotates with a constant angular velocity ߱ . 

Solution. The centrifugal inertia forces in 
each rod are equal in magnitude: 

ଵ௜ܨ ൌ ଶ௜ܨ ൌ
ܲ
݃
1
2
߱ଶ, 

and they make a couple which, apparently, is 
balanced by the couple ࡰ࡭ࢄ,  The moments of .ࡰ࡮ࢄ
these couples are equal in magnitude. 
Consequently, ஺ܺ

஽ܾ ൌ  ଵ௜݄, whenceܨ

஺ܺ
஽ ൌ ܺ஻஽ ൌ

ଵ௜݄ܨ
ܾ

ൌ
݄݈݌
2ܾ݃

߱ଶ. 

The couple is continuously in the ݖݔܣ plane, 
which rotates with the body. 

 
Problem 53. Find the relation between the moment ܯ of the couple acting on the 

crankshaft  mechanism in Fig. 85 and 
the pressure ܲ on the piston when the 
system is in equilibrium. The crank is 
of length ܱܣ ൌ  and the connecting ݎ
rod is of length ܤܣ ൌ ݈.  

Solution. Equilibrium conditions 
(6.6) give 

߮ߜܯ െ ஻ݏߜܲ ൌ 0 or ߱ܯை஺ ൌ
 ,஻ݒܲ
since ߮ߜ ൌ ߱ை஺݀ݐ and ݏߜ஻ ൌ
 ஻ andݒ The relation between.ݐ஻݀ݒ

߱ை஺ can be found by the methods of kinematics: 

஻ݒ ൌ ߱ை஺ݎ ቆ1 ൅
ݎ ݏ݋ܿ ߮

ඥ݈ଶ െ ଶݎ ଶ݊݅ݏ ߮
ቇ ݊݅ݏ ߮. 

Referring to this result, we find 

ܯ ൌ ݎܲ ൬1 ൅ ௥ ௖௢௦ఝ
ඥ௟మି௥మ ௦௜௡మ ఝ

൰ ݊݅ݏ ߮.  
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Problem 54. For the reduction gear (fig. 86), find the relation between the torque 
 ஻ applied to the drivenܯ and the resistance moment ܣ ஺ applied to the driving shaftܯ
shaft ܤ when both shafts are rotating uniformly. 

The number of teeth in the gears is: ݖଵ ൌ 120, ଶݖ ൌ
40, ଷݖ ൌ 30, ସݖ ൌ 50. 

Solution. The relation between ܯ஺ and ܯ஻ will be the 
same in uniform rotation as in equilibrium. Therefore, from 
Eq. (6.6) we have 

஺߮ߜ஺ܯ െܯ஻߮ߜ஻ ൌ ஺߱஺ܯ  ݎ݋ 0 ൌ  ,஻߱஻ܯ
as ߮ߜ஺ ൌ ߱஺݀ݐ,   and ߮ߜ஻ ൌ ߱஻݀ݐ. Hence, referring to the 
kinematic methods, we find 
߱஻

߱஺
ൌ 1 ൅

ଷݖଵݖ
ସݖଶݖ

, ஺ܯ  ൌ
߱஻

߱஺
஻ܯ ൌ ሺ1 ൅

ଷݖଵݖ
ସݖଶݖ

ሻܯ஻ ൌ  .஻ܯ 2.8

 
Problem 55. Find  the relation between forces ܲ and 

ܳ in the hoisting mechanism in Fig. 87, whose parts are 
housed in the box ܭ, if it is known that in one revolution of 
the crank handle ܤܣ ൌ ݈ the screw ܦ moves out by ݄. 

Solution. From Eq. (6.6) we have 
஺஻߮ߜ݈ܲ െ ஽ݏߜܳ ൌ 0. 
Assuming that when the handle is rotated uniformly 

the screw also moves up uniformly, we have 
ఋఝಲಳ
ଶగ

ൌ ఋ௦ವ
௛

 or ߮ߜ஺஻ ൌ
ଶగ
௛
 .஽ݏߜ

Substituting this expression for ߮ߜ஺஻ into the 
foregoing equation, we obtain 

ܳ ൌ ଶగ௟
௛
ܲ.  

Note that this simple problem could just not be 
solved by the methods of geometrical statics as the parts of 
the mechanism are unknown. 

 
Problem 56. Two beams are hinged together at ܥ 

and loaded as shown in Fig.88a. Neglecting the weight of the beams, determine the 
pressure on support ܤ. 

Solution. Replace the support at ܤ by a force ࡺ஻, which is equal in magnitude 
to the required pressure (Fig. 88b). For a virtual displacement оf the system Eq. (6.6) 
gives 

஻ܰݏߜ஻ െ ாݏߜܲ ൌ 0. 
The relation between ݏߜ஻ and ݏߜா is found from the proportions 

ఋ௦ಳ
௔
ൌ ఋ௦಴

௟భ
;    ఋ௦ಶ

௕
ൌ ఋ௦಴

௟మ
,  



91 
 

whence 

ாݏߜ ൌ
ܾ݈ଵ
݈ܽଶ

 ,஻ݏߜ

and consequently 

஻ܰ ൌ
ܾ݈ଵ
݈ܽଶ

ܲ. 

If we used the methods of 
geometrical statics we would have to 
consider the equilibrium of each beam 
separately, introduce the reactions of 
the other supports, and then eliminate 
them from the obtained set of 
equilibrium equations. 

 
Problem 57. The epicycles gear train in Fig. 89 consists of a gear 1 of radius ݎଵ, 

an arm ܤܣ mounted on axle ܣ independently of the gear, and a gear 2 of radius ݎଶ 
mounted on the arm at ܤ as shown. Acting on the arm is a torque ܯ, and acting on 
the gears are resistance moments ܯଵ and ܯଶ, respectively. Determine the values of 
  .ଶ at which the mechanism is in equilibriumܯ ଵ andܯ

Solution. The mechanism has two degrees of freedom, since it has two possible 
independent displacements: the rotation of the arm ܤܣ when gear 1 is at rest, and the 
rotation of gear 1 when the arm is at rest. First consider a virtual displacement of the 
system in which gear 1 remains at rest (Fig. 89a). For this displacement Eq. (6.6) 
gives 

஺஻߮ߜܯ െܯଶ߮ߜଶ ൌ 0. 
But when gear 1 is at rest the contact point 

of the gears will be the instantaneous centre of 
zero velocity of gear 2, and consequently 
߭஻ ൌ ߱ଶݎଶ. At the same time, 

߭஻ ൌ ߱஺஻ሺݎଵ ൅   .ଶሻݎ
Hence ߱ଶݎଶ ൌ ߱஺஻ሺݎଵ ൅ ଶݎଶ߮ߜ ଶሻ orݎ ൌ

ଵݎ஺஻ሺ߮ߜ ൅  ଶሻ, and we obtainݎ
ଶܯ ൌ

ଶݎ
ଵݎ ൅ ଶݎ

 .ܯ

Now consider a virtual displacement in 
which the arm ܤܣ remains at rest (Fig. 89b). For 
this displacement Eq. (6.6) gives 

ଵ߮ߜଵܯ െ ଶ߮ߜଶܯ ൌ 0. 
But when the arm is at rest 

ఋఝమ
ఋఝభ

ൌ ఠమ
ఠభ
ൌ ௥భ

௥మ
  and  ܯଵ ൌ

௥భ
௥మ
 .ଶܯ

We finally obtain 
ଵܯ ൌ

ଵݎ
ଵݎ ൅ ଶݎ

ଶܯ   ,ܯ ൌ
ଶݎ

ଵݎ ൅ ଶݎ
 .ܯ
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Problem 58. Determine the relation between forces ܳ and ܲ at which the press 

in Fig. 90 is in equilibrium if angles ߙ and ߚ are known. Neglect the weight of the 
rods. 
Solution. To give an example of the analytical method of solution, let us take 
equilibrium condition (6.8). Placing the origin 
of a coordinate system in the fixed point ܣ and 
drawing the ݔ and ݕ axes as shown, we obtain 

ܳଵ௫ݔߜଵ ൅ ܳଶ௫ݔߜଶ ൅ ଷܲ௬ݕߜଷ ൌ 0, 
since all the other projections of the forces 
vanish. 

To find ݔߜଵ, ݔߜଶ,  ଷ compute theݕߜ
coordinates ݔଵ, ,ଶݔ  ଷ of the points ofݕ
application of the forces, expressing them in 
terms of the angles ߙ and ߚ. Denoting the 
length of each rod by ܽ, we obtain  

ଵݔ ൌ ܽ ݏ݋ܿ ,ߙ ଶݔ  ൌ ܽ ݏ݋ܿ ߙ ൅ 2ܽ ݏ݋ܿ ߚ , ଷݕ ൌ ܽሺ݊݅ݏ ߚ ൅ ݊݅ݏ  ,ሻߙ
differentiating which, we find ݔߜଵ ൌ െܽ ݊݅ݏ ߙߜߙ , ଶݔߜ ൌ െܽሺ݊݅ݏ ߙߜߙ ൅
2 ݊݅ݏ ሻߚߜߚ , ଷݕߜ ൌ ܽሺܿݏ݋ ߚߜߚ ൅ ݏ݋ܿ  .ሻߙߜߙ

Substituting these expressions and taking into account that ܳଵ௫ ൌ ܳ,ܳଶ௫ ൌ െܳ, 
and ଷܲ௬ ൌ െܲ, we have 

2ܳ ݊݅ݏ ߚߜߚ െ ܲሺܿݏ݋ ߚߜߚ ൅ ݏ݋ܿ ሻߙߜߙ ൌ 0. 
To find the relation between ߙߜ and ߚߜ we make use of the fact that ܤܣ ൌ

ݏ݋Therefore, 2ܽሺܿ .ݐݏ݊݋ܿ ߙ ൅ ݏ݋ܿ ሻߚ ൌ  Differentiating this equation, we .ݐݏ݊݋ܿ
obtain 

݊݅ݏ ߙߜߙ ൅ ݊݅ݏ ߚߜߚ ൌ 0 ߙߜ  ݀݊ܽ   ൌ െ
݊݅ݏ ߚ
݊݅ݏ ߙ

 .ߚߜ
Substituting the expression for ߙߜ, we have  

2ܳ ݊݅ݏ ߚ െ ܲሺܿݏ݋ ߚ െ ݐ݋ܿ ߙ ݊݅ݏ ሻߚ ൌ 0, 
whence 

ܲ ൌ
2ܳ

ݐ݋ܿ ߚ െ ݐ݋ܿ ߙ
. 

At an angle ߚ very close to ߙ the pressure ܲ will be very large. 
 
Problem 59. A centrifugal-type governor consists of two balls ܣଵ and ܣଶ of 

weight ܲ  each (Fig. 91). The slide ܥଵܥଶ weighs ܳ,  the governor rotates about the 
vertical axis with a uniform angular velocity ߱. Neglecting the weight of the rods, 
determine angle ߙ, if ܱܣଵ ൌ ଶܣܱ ൌ ݈, and ܱܤଵ ൌ ଶܤܱ ൌ ଵܥଵܤ ൌ ଶܥଶܤ ൌ ܽ. 

Solution. Adding to the active forces ଵܲ,   ଶܲ and ܳଷ the centrifugal inertia forces 
 ଶ௜ (the inertia force of the slide will, evidently, be zero), we write the generalܨ ଵ௜ andܨ
equation of dynamics in the form (6.10). Computing the projections of all the forces 
on the coordinate axes, we have 
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ଵܲݔߜଵ ൅   ଶܲݔߜଶ െ ଵݕߜଵ௜ܨ ൅ ଶݕߜଶ௜ܨ ൅ ܳଷݔߜଷ ൌ 0. 
We also have 

ܳଷ ൌ ܳ;    ଵܲ ൌ   ଶܲ ൌ ܲ ; ଵ௜ܨ    ൌ ଶ௜ܨ ൌ 

ൌ
ܲ
݃
ܽ஺ ൌ

ܲ
݃
߱ଶ݈ ݊݅ݏ ߮. 

The coordinates of the points of application 
of the forces are 

ଵݔ ൌ ଶݔ ൌ ݈ ݏ݋ܿ ଶݕ   ,߮ ൌ െݕଵ ൌ ݈ ݊݅ݏ ଷݔ   ,߮ ൌ
ൌ 2ܽ ݏ݋ܿ ߮. 

Differentiating these expressions, we find 

ଵݔߜ ൌ ଶݔߜ ൌ െ݈ ݊݅ݏ ߮ߜ߮ ; ଶݕߜ    ൌ െݕߜଵ
ൌ ݈ ݏ݋ܿ ߮ߜ߮ ; ଷݔߜ    ൌ െ2ܽ ݊݅ݏ  .߮ߜ߮

Substituting all these expressions, we obtain 

൬െ2݈ܲ ݊݅ݏ ߮ ൅2
ܲ
݃
݈ଶ߱ଶ ݊݅ݏ ߮ ݏ݋ܿ ߮ െ 2ܳܽ ݊݅ݏ ߮൰ ߮ߜ ൌ 0, 

whence we finally have 

ݏ݋ܿ ߙ ൌ
݈ܲ ൅ ܳܽ
݈ܲଶ߱ଶ ݃. 

As ܿݏ݋ ߮ ൑ 1, the balls will move apart when 

߱ଶ ൐
݈ܲ ൅ ܳܽ
݈ܲଶ

݃. 
Angle ߮ increases with ߱ and tends to 90º when ߱ ՜ ∞. 
 
Problem 60. In the hoist mechanism in Fig. 92, a torque ܯ is applied to gear 2 

of weight ଶܲ and radius of gyration ߷ଶ. Determine, the acceleration of the lifted load 
 of weight ܳ, neglecting the weight of the string and the friction in the axles. The ܣ
drum on which the string winds and the gear 1 attached to it have a total weight ଵܲ 
and a radius of gyration ߷ଵ.The radii of the gears are ݎଵ and ݎଶ, and of the drum ݎ. 

Solution. Draw the active force ࡽ and torque ܯ (forces ࡼ૚ and ࡼ૛ do no work) 
and add to them the inertia force ࢏࡭ࡲ  of the load and the couples of moments ܯଵ

௜   and 
ଶܯ 

௜  to which the inertia forces of the rotating bodies are reduced. In magnitude these 
quantities are 
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஺௜ܨ ൌ
ொ
௚
ܽ஺,       หܯଵ

௜ห=௉భ
௚
߷ଵଶߝଵ, 

หܯଶ
௜ ห ൌ ௉మ

௚
߷ଶଶߝଶ. 

The directions of all the vectors 
are shown in the Fig 92. Eq. (6.9) for a 
virtual displacement of the system, we 
obtain 

െ൫ܳ ൅ ஺ݏߜ஺௜൯ܨ െ ଵܯ
௜߮ߜଵ+൫ܯ െ

ଶܯ
௜ሻ߮ߜଶ ൌ 0. 

Expressing all the displacements in 
terms of  ߮ߜଵ, we have 

஺ݏߜ ൌ ଵ߮ߜݎ ,      
ఋఝభ
ఋఝమ

ൌ ఠభ
ఠమ
ൌ ௥మ

௥భ
  

and ߮ߜଶ ൌ
௥భ
௥మ
 .ଵ߮ߜ

Finally the equation of motion takes the form 
ܳ ቀ1 ൅ ௔ಲ

௚
ቁ ݎ ൅ ௉భ

௚
߷ଵଶߝଵ ൅

௉మ
௚
߷ଶଶߝଶ

௥భ
௥మ
െ ܯ ௥భ

௥మ
ൌ 0. 

Now express the quantities ߝଵ and ߝଶ in terms of the required acceleration ܽ஺ 
Taking into account that ߝଵ and ߝଶ are related in the same way as ߱ଵ and ߱ଶ, we 
obtain 

ଵߝ ൌ
௔ಲ
௥

ଶߝ  , ൌ
௥భ
௥మ
ଵߝ ൌ

௥భ
௥మ

௔ಲ
௥

. 

And finally we have 

ܽ஺ ൌ

ଵݎ
ଶݎ
ܯ െ ܳݎ

ܳݎ ൅ ߷ଵଶ
ݎ ଵܲ ൅

߷ଶଶݎଵଶ
ଶଶݎݎ

ଶܲ

݃. 

 
Problem 61. One end of a thread is wound on a uniform cylinder of weight ଵܲ  

(Fig. 93). The thread passes over a pulley ܱ, 
and its other end is attached to a load ܣ of 
weight ଶܲ which slides on a horizontal 
plane, the coefficient of friction being ݂. 
Neglecting the mass of the pulley, and the 
string, determine the acceleration of the load 
and of the centre ܥ of the cylinder. 

So1ution. If motion starts from rest, the 
centre of the cylinder ܥ will move vertically, 
and the system has two degrees of freedom  

(the rotation of the cylinder with respect to the thread when the load is at rest 
and the displacement of the load when the cylinder does not rotate). 
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Add to the acting forces ࡼ૚, ࡼ૛, and ࢘ࢌࡲ the inertia forces of the cylinder 
reduced to a principal vector ࡾଵ௜  аnd a couple of moment ܯ஼

௜ , and the inertia force ࢏࡭ࡲ  
of the load. In magnitude 

 

஺௜ܨ ൌ
ଶܲ

݃
ܽ஺, ܴଵ௜ ൌ

ଵܲ

݃
ܽ஼, หܯ஼

௜ ห ൌ ߝ஼ܬ ൌ
ଵܲ

2݃
ଶݎ
ܽ஼ െ ܽ஺

ݎ
. 

The last equality follows from the fact that, if point ܥ of the cylinder has a 
velocity ߭஼ , and point ܤ (together with the string) a velocity ߭஻ ൌ ߭஺, then the 
angular velocity of the cylinder ߱ ൌ జ಴ିజಲ

௥
, and, consequently, ߝ ൌ ௔಴ି௔ಲ

௥
. 

Furthermore, for the cylinder ܬ஼ ൌ  .is the radius of the cylinder ݎ ଶ, whereݎ0.5݉
Now consider a virtual displacement ݏߜ஺ of the system in which the cylinder 

does not rotate and is translated together with the load. The couple of moment ܯ஼
௜  

does no work in this displacement and from Eq. (6.9) we obtain 
 

൫െܨ௙௥ െ ஺௜ܨ െ ܴଵ௜ ൅ ଵܲ൯ݏߜ஺ ൌ 0, 
 

whence, as ܨ௙௥ ൌ ݂ ଶܲ, we find 
ଵܲ

݃
ܽ஼ ൅

ଶܲ

݃
ܽ஺ ൌ ଵܲ െ ݂ ଶܲ. 

Consider the other independent virtual displacement in which the load ܣ remains 
at rest while the cylinder turns about point ܤ (which in this displacement is the 
instantaneous centre of rotation) through angle ߮ߜ. For this displacement, Eq. (6.9) 
gives 

 
൫ ଵܲ െ ܴଵ௜ ൯߮ߜݎ െܯ஼

௜ ߮ߜ ൌ 0 
. 

Substituting the expressions for ܴଵ௜  and ܯ஼
௜we obtain 

 
3ܽ஼ െ ܽ஺ ൌ 2݃. 

Solving equations simultaneously, we obtain the required accelerations 
 

ܽ஺ ൌ
ଵܲ െ 3݂ ଶܲ

ଵܲ ൅ 3 ଶܲ
݃, ܽ஼ ൌ

ଵܲ ൅ ሺ2 െ ݂ሻ ଶܲ

ଵܲ ൅ 3 ଶܲ
݃. 

 
 


